

Some New Properties Of Balancing Numbers

S. J. Gajjar*

*Department of Science and Humanities, Government Polytechnic, Gandhinagar - 382024, India, E-mail: gjr.sachin@gmail.com

Citation: S. J. Gajjar (2024), Some New Properties Of Balancing Numbers, *Educational Administration: Theory and Practice*, 30(2), 1900-1902

Doi: 10.53555/kuey.v30i2.9856

ARTICLE INFO ABSTRACT

In this paper, we discuss some new properties of Balancing Numbers. We discuss the generalisation of a property, some known properties can be derive as a special case of this property. We investigate some congruences of Balancing Numbers.

Keywords: Balancing Number.

AMS subject classification number: 11B99

1 Introduction:

Balancing number is a positive integer B which satisfies the equation: $1 + 2 + 3 + \dots + (B - 1) = (B + 1) + (B + 2) + \dots + (B + k)$, where k is called balancer. For example, $B = 6, 35, 204, 1189$ are balancing numbers and $k = 2, 14, 84, 492$ respectively are balancers. A. Behera and G.K Panda [1] introduced the concept of balancing numbers in 1998.

The search for balancing numbers is well known integer sequence was first initiated by Liptai [2]. He proved that there is no balancing number in the Fibonacci sequence other than 1. He further showed that sequence balancing numbers in odd natural numbers are the sums of two consecutive balancing numbers.

Behera and Panda [1], while accepting 1 as a balancing number, have set $B_0 = 1, B_1 = 6$, and so on, using the symbol B_n for the n^{th} balancing number. Panda [4] has relabel the balancing numbers by setting $B_1 = 1, B_2 = 6$ and so on to standardize the notation at par with Fibonacci numbers.

Some results established by Behera and Panda [1] can be stated with this new convention as follows:

The second order linear recurrence:

$$B_{n+1} = 6B_n - B_{n-1} \text{ for } n > 2 \dots (1)$$

The relation:

$$B_n = B_{r+1}B_{n-r} - B_rB_{n-r-1} \text{ for } 1 \leq r \leq n - 2 \dots (2)$$

The Binet form:

$$B_n = \frac{\lambda_1^n - \lambda_2^n}{\lambda_1 - \lambda_2} \text{ for } n = 1, 2, \dots \dots (3)$$

where $\lambda_1 = 3 + \sqrt{8}$ and $\lambda_2 = 3 - \sqrt{8}$

The relation:

$$B_{n+1}B_{n-1} = (B_n + 1)(B_n - 1) \dots (4)$$

Now using (1), we can set $B - 0 = B_2 - 6B_1 = 6 - 6(1) = 0$

2 Properties of Balancing Numbers:

We know that if n, r and k with $r \leq k$ are real numbers, then $(n + k - r)(n + r) - n(n + k) = r(k - r)$. In the following theorem we prove an analogous property of balancing numbers. This theorem also generalizes some known properties of Balancing numbers.

Theorem 2.1 $B_{n+k-r}B_{n+r} - B_nB_{n+k} = B_rB_{k-r}$ for $r \leq k$.

Proof: Using the Binet form (3)

$$\begin{aligned} & B_{n+k-r}B_{n+r} - B_nB_{n+k} \\ &= \left(\frac{\lambda_1^{n+k-r} - \lambda_2^{n+k-r}}{\lambda_1 - \lambda_2} \right) \left(\frac{\lambda_1^{n+r} - \lambda_2^{n+r}}{\lambda_1 - \lambda_2} \right) - \left(\frac{\lambda_1^n - \lambda_2^n}{\lambda_1 - \lambda_2} \right) \left(\frac{\lambda_1^{n+k} - \lambda_2^{n+k}}{\lambda_1 - \lambda_2} \right) \\ &= \left(\frac{\lambda_1^{2n+k} - \lambda_1^{n+k-r}\lambda_2^{n+r} - \lambda_1^{n+r}\lambda_2^{n+k-r} + \lambda_1^{2n+k}}{(\lambda_1 - \lambda_2)^2} \right) - \left(\frac{\lambda_1^{2n+k} - \lambda_1^n\lambda_2^{n+k} - \lambda_1^{n+k}\lambda_2^n + \lambda_2^{2n+k}}{(\lambda_1 - \lambda_2)^2} \right) \\ &= \frac{\lambda_1^n\lambda_2^{n+k} - \lambda_1^{n+k-r}\lambda_2^{n+r} - \lambda_1^{n+r}\lambda_2^{n+k-r} + \lambda_1^{n+k}\lambda_2^n}{(\lambda_1 - \lambda_2)^2} \end{aligned}$$

$$\begin{aligned}
&= \frac{\lambda_2^k - \lambda_1^{k-r} \lambda_2^r - \lambda_1^r \lambda_2^{k-r} + \lambda_1^k}{(\lambda_1 - \lambda_2)^2} \quad (\because \lambda_1 \lambda_2 = 1) \\
&= \left(\frac{\lambda_1^r - \lambda_2^r}{\lambda_1 - \lambda_2} \right) \left(\frac{\lambda_1^{k-r} - \lambda_2^{k-r}}{\lambda_1 - \lambda_2} \right) \\
&= B_r B_{k-r} \quad \blacksquare
\end{aligned}$$

Behera and Panda [1] have proved that $B_n = B_{r+1}B_{n-r} - B_rB_{n-r-1}$ for $1 \leq r \leq n-1$ and Panda [4] has proved that $B_{m+n}B_{m-n} = B_m^2 - B_n^2$. The following theorem shows that these two results are special cases of the Theorem 2.1.

Theorem 2.2 (1) $B_n = B_{r+1}B_{n-r} - B_rB_{n-r-1}$ for $1 \leq r \leq n-1$.

(2) $B_{m+n}B_{m-n} = B_m^2 - B_n^2$ for $m \geq n$.

(3) $B_{m+n} = B_mB_{n+1} - B_{m-1}B_n$.

Proof: (1) Replace n by 1 and k by $n-1$ in the Theorem 2.1, we have

$$B_{1+n-1-r}B_{1+r} - B_1B_{1+n-1} = B_rB_{n-1-r}$$

$$\therefore B_{n-r}B_{r+1} - B_n = B_rB_{n-r-1}$$

$$\therefore B_n = B_{n-r}B_{r+1} - B_rB_{n-r-1}$$

(2) Replace n by $m-n$, k by $2n$ and r by n in the Theorem 2.1, we have

$$B_{m-n+2n-n}B_{m-n+n} - B_{m-n}B_{m-n+2n} = B_nB_{2n-n}$$

$$\therefore B_mB_m - B_{m-n}B_{m+n} = B_nB_n$$

$$\therefore B_m^2 - B_n^2 = B_{m+n}B_{m-n}$$

(3) Replace n by 1, r by n and k by $m+n-1$ in the Theorem 2.1, we have

$$\therefore B_{1+m+n-1-n}B_{1+n} - B_1B_{1+m+n-1} = B_nB_{m+n-1-n}$$

$$\therefore B_mB_{n+1} - B_{m+n} = B_nB_{m-1}$$

$$\therefore B_mB_{n+1} - B_{m-1}B_n = B_{m+n} \quad \blacksquare$$

Theorem 2.3 $B_nB_{n+2}B_{n+k}B_{n+k+2} + 9B_k^2$ is always a perfect square for $k \in \mathbb{N}$.

Proof: Replace k by $k+2$ and r by k in the Theorem 2.1, we have

$$B_{n+k+2-k}B_{n+k} - B_nB_{n+k+2} = B_kB_{k+2-k}$$

$$\therefore B_{n+2}B_{n+k} - B_nB_{n+k+2} = B_kB_2$$

$$\therefore B_{n+2}B_{n+k} = B_nB_{n+k+2} + 6B_k$$

$$\therefore B_nB_{n+2}B_{n+k}B_{n+k+2} + 9B_k^2 = B_nB_{n+k+2}(B_nB_{n+k+2} + 6B_k) + 9b_k^2$$

$$= (B_nB_{n+k+2})^2 + 6B_k(B_nB_{n+k+2}) + 9B_k^2$$

$$= (B_nB_{n+k+2} + 3B_k)^2 \text{ or } (B_{n+2}B_{n+k} - 3B_k)^2 \quad \blacksquare$$

Theorem 2.4 $7 \cdot 5^{n-2} - 1 < B_n < 35 \cdot 6^{n-3} + 1$ for $n \geq 3$.

Proof: Using recurrence relation (1), we have

$$B_n = 6B_{n-1} - B_{n-2} \quad \text{for } n \geq 3$$

$$= 5B_{n-1} + B_{n-1} - B_{n-2}$$

$$> 5B_{n-1} + 4 \quad (\because B_{n-1} - B_{n-2} > 4 \text{ for all } n \geq 3)$$

By continuing this process up to $n-2$ steps, we have

$$B_n > 5^{n-2}B_2 + 4(5^{n-3} + 5^{n-4} + \dots + 5^2 + 5 + 1)$$

$$= 6 \cdot 5^{n-2} + 4 \left(\frac{5^{n-2}-1}{4} \right)$$

$$= 7 \cdot 5^{n-2} - 1$$

Now again

$$B_n = 6B_{n-1} - B_{n-2} \quad \text{for } n \geq 3$$

$$\leq 6B_{n-1} - 1 \quad (\because B_{n-2} \geq 1)$$

By continuing this process up to $n-2$ steps, we have

$$B_n \leq 6^{n-2}B_2 - (6^{n-3} + 6^{n-4} + \dots + 6^2 + 6 + 1)$$

$$= 6 \cdot 6^{n-2} - \left(\frac{6^{n-2}-1}{5} \right)$$

$$< 6^{n-1} - \left(\frac{5 \cdot 6^{n-3} - 5}{5} \right)$$

$$= 6^{n-1} - 6^{n-3} + 1$$

$$= 35 \cdot 6^{n-3} + 1$$

Thus $7 \cdot 5^{n-2} - 1 < B_n < 35 \cdot 6^{n-3} + 1$ for all $n \geq 3$ \blacksquare

S. J. Gajjar [5] has proved that if B_n is the n^{th} balancing number, then $B_n = u_n v_n$, where $v_n + \sqrt{2}u_n = (1 + \sqrt{2})^n$. Also he has proved that $B_n = \frac{u_{2n}}{2}$. Using these results, we prove the following theorem.

Theorem 2.5 $B_n = \frac{1}{2} \sum_{k=1}^n 2^{k-1} \binom{2n}{2k-1}$

Proof: We know that $v_n + \sqrt{2}u_n = (1 + \sqrt{2})^n$.

$$\therefore v_{2n} + \sqrt{2}u_{2n} = (1 + \sqrt{2})^{2n}$$

By comparing the coefficient of $\sqrt{2}$ of both the sides, we have

$$u_{2n} = \binom{2n}{1} + 2 \binom{2n}{3} + 2^2 \binom{2n}{5} + \dots + 2^{n-1} \binom{2n}{2n-1} = \sum_{k=1}^n 2^{k-1} \binom{2n}{2k-1}$$

$$\therefore B_n = \frac{u_{2n}}{2} = \frac{1}{2} \sum_{k=1}^n 2^{k-1} \binom{2n}{2k-1} \blacksquare$$

Theorem 2.6 For $0 < r < k$ $B_{kn+r} \equiv \begin{cases} B_r \pmod{B_k} & \text{if } n \text{ is even} \\ -B_{k-1}B_r \pmod{B_k} & \text{if } n \text{ is odd} \end{cases}$

Proof:

$$\begin{aligned} B_{kn+r} &= B_{k(n-1)+r+k} \\ &= B_{k(n-1)+r}B_{k+1} - B_{k(n-1)+r-1}B_k \\ &\equiv B_{k(n-1)+r}B_{k+1} \pmod{B_k} \\ &\equiv B_{k(n-1)+r}(6B_k - B_{k-1}) \pmod{B_k} \\ &\equiv -B_{k(n-1)+r}B_{k-1} \pmod{B_k} \\ &\equiv (-1)^2 B_{k(n-2)+r}B_{k-1}^2 \pmod{B_k} \\ &\equiv (-1)^2 B_{k(n-2)+r}(B_{k-2}B_k + 1) \pmod{B_k} \\ &\equiv (-1)^2 B_{k(n-2)+r} \pmod{B_k} \end{aligned}$$

After $\left\lfloor \frac{n}{2} \right\rfloor$ steps we have,

$$\begin{aligned} B_{kn+r} &\equiv (-1)^{2\left\lfloor \frac{n}{2} \right\rfloor} B_{kn+r-2\left\lfloor \frac{n}{2} \right\rfloor} \\ &\equiv \begin{cases} (-1)^n B_r \pmod{B_k} & \text{if } n \text{ is even} \\ (-1)^{n-1} B_{k+r} \pmod{B_k} & \text{if } n \text{ is odd} \end{cases} \\ &\equiv \begin{cases} B_r \pmod{B_k} & \text{if } n \text{ is even} \\ B_k B_{r+1} - B_{k-1}B_r \pmod{B_k} & \text{if } n \text{ is odd} \end{cases} \\ &\equiv \begin{cases} B_r \pmod{B_k} & \text{if } n \text{ is even} \\ -B_{k-1}B_r \pmod{B_k} & \text{if } n \text{ is odd} \end{cases} \blacksquare \end{aligned}$$

3 Concluding Remarks:

In this paper, we have investigated some new properties of Balancing Numbers. We have found bound of Balancing Numbers. Also we have found congruence relation of Balancing Numbers. Such more relations and properties can also be found and it is an open area of research.

References

1. Behera A. and Panda G. K., "On the Square Roots of Triangular Numbers", *The Fibonacci Quarterly*, 37(2)(1999), 98-105.
2. Liptai K., "Fibonacci balancing numbers", *The Fibonacci Quarterly*, 42(4)(2004), 330-340.
3. Ramesh Gautam, "Balancing Numbers and Applications", *Journal of Advanced College of Engineering and Management*, 4(2018), 137-142.
4. Panda G. K., "Some Fascinating Properties of Balancing Numbers", *Congressus Numerantium*, 194(2009), 137-142.
5. [5] S. J. Gajjar. (2023). , "PROPERTIES OF SEQUENCES RELATED TO BALANCING NUMBERS". *ShodhKosh: Journal of Visual and Performing Arts*, 4(1), 1793-1801.